

A NONOSCILLATION THEOREM FOR HALF-LINEAR DIFFERENTIAL EQUATIONS WITH DELAY NONLINEAR PERTURBATIONS

NAOTO YAMAOKA

(Communicated by O. Došlý)

Abstract. This paper deals with the oscillation problem for nonlinear differential equations with delay. A sufficient condition is obtained for the equation to have a nonoscillatory solution. The main result is the best possible in a certain sense. Examples are given to illustrate the main result.

1. Introduction

We consider the nonlinear differential equation with delay

$$\left(|x'(t)|^{\alpha-1}x'(t)\right)' + \left(\frac{\alpha}{\alpha+1}t\right)^{\alpha+1} |x(t)|^{\alpha-1}x(t) + a(t)f(x(ct)) = 0, \quad ' = \frac{d}{dt} \quad (1.1)$$

where α and c are constants satisfying $\alpha > 0$ and $0 < c \leq 1$, respectively; $a(t)$ is nonnegative, continuous and locally of bounded variation on $(0, \infty)$; f is continuous on \mathbb{R} and satisfies

$$yf(y) > 0 \quad \text{if } y \neq 0. \quad (1.2)$$

Let $t_0 \geq 0$. By a *solution* of (1.1) we mean a function $x: [ct_0, \infty) \rightarrow \mathbb{R}$ which has the property $|x'|^{\alpha-1}x' \in C^1(t_0, \infty)$ and which satisfies (1.1) for all $t \in [t_0, \infty)$. A solution $x(t)$ of (1.1) is said to be *oscillatory* if there exists a sequence $\{t_n\}$ tending to ∞ such that $x(t_n) = 0$. Otherwise, it is said to be *nonoscillatory*.

As has already been shown in [16, Theorem 2.1], under the above assumptions, all nontrivial solutions of (1.1) are continuable into the future. Hence, it is worthwhile to investigate whether or not solutions of (1.1) are oscillatory.

Let $c = 1$ and

$$a(t)f(y) = \frac{\varepsilon}{t^{\alpha+1}}|y|^{\alpha-1}y,$$

where ε is nonnegative. Then (1.1) becomes the half-linear differential equation without delay

$$\left(|x'|^{\alpha-1}x'\right)' + \frac{1}{t^{\alpha+1}} \left\{ \left(\frac{\alpha}{\alpha+1}\right)^{\alpha+1} + \varepsilon \right\} |x|^{\alpha-1}x = 0, \quad (1.3)$$

Mathematics subject classification (2000): 34K11, 34C10.

Keywords and phrases: oscillation, half-linear differential equation, delay, nonlinear perturbations.

Partly supported by the Grant-in-Aid for Young Scientists (B), 19740074, The Ministry of Education, Culture, Sports, Science and Technology, Japan.

which is called the generalized Euler differential equation (see [4]). It is well known that (1.3) has a nonoscillatory solution if and only if the corresponding characteristic equation

$$\alpha|z|^{\alpha+1} - \alpha|z|^{\alpha-1}z + \left(\frac{\alpha}{\alpha+1}\right)^{\alpha+1} + \varepsilon = 0$$

has a real root (see [1, 2, 3, 6, 7, 12, 13, 14, 16]). Thus, (1.3) has a nonoscillatory solution if $\varepsilon = 0$ and all nontrivial solutions of (1.3) are oscillatory if $\varepsilon > 0$. Hence, (1.1) consists of the half-linear differential equation (1.3) with $\varepsilon = 0$ which has a nonoscillatory solution, and the nonlinear perturbation with delay $a(t)f(x(ct))$.

Recently, the author and Sugie [16] have presented a sufficient condition for all nontrivial solutions of (1.1) to be oscillatory.

THEOREM A. ([16, Theorem 1.1]) *Assume (1.2) and suppose that $a(t)$ satisfies*

$$a(t) \geq \frac{1}{t^{\alpha+1}(\log t)^\beta}$$

for t sufficiently large, and that

$$\frac{f(y)}{|y|^{\alpha-1}y} \geq \frac{\lambda}{(\log |y|)^\gamma}$$

for $|y|$ large enough, where β and γ are nonnegative constants satisfying $\beta + \gamma = 2$. If

$$\lambda > \frac{1}{2c^{\alpha^2/(\alpha+1)}} \left(\frac{\alpha}{\alpha+1}\right)^{\alpha+\gamma}, \quad (1.4)$$

then all nontrivial solutions of (1.1) are oscillatory.

It follows from Theorem A that all nontrivial solutions of (1.1) are oscillatory if there exists λ such that (1.4) satisfies

$$\beta + \gamma = 2, \quad a(t)f(y) = \frac{\lambda}{t^{\alpha+1}(\log t)^\beta (\log |y|)^\gamma} |y|^{\alpha-1}y$$

for t and $|y|$ sufficiently large, where β and γ are nonnegative constants. However, to show that the constant given in (1.4) is the best possible, we need a nonoscillation theorem for (1.1). For this reason, we give a sufficient condition for (1.1) to have a nonoscillatory solution. Our main result can be stated as follows.

THEOREM 1.1. *Assume that (1.2) holds and suppose that $a(t)$ satisfies*

$$0 < a(t) \leq \frac{1}{t^{\alpha+1}(\log t)^\beta} \quad (1.5)$$

for t sufficiently large, and that $f(y)$ is nondecreasing for $y \in \mathbb{R}$ and satisfies

$$\frac{f(y)}{|y|^{\alpha-1}y} \leq \frac{\lambda}{(\log |y|)^\gamma} \quad (1.6)$$

for $y > 0$ or $y < 0$, $|y|$ sufficiently large, where β and γ are nonnegative constants satisfying $\beta + \gamma = 2$. If

$$\lambda < \frac{1}{2c^{\alpha^2/(\alpha+1)}} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+\gamma}, \tag{1.7}$$

then (1.1) has a nonoscillatory solution.

REMARK 1.1. To prove Theorem 1.1, we need to assume that the function $f(y)$ is nondecreasing for $y \in \mathbb{R}$.

REMARK 1.2. For the case of linear or half-linear differential equations without delay, we note that, by Sturm’s separation theorem, all nontrivial solutions of (1.1) are nonoscillatory ([5, 8, 9, 15]).

2. Preliminary

To prove Theorem 1.1, we require two lemmas. First we present the following result concerning a positive solution of the half-linear differential equation

$$(|y'|^{\alpha-1}y')' + \frac{1}{t^{\alpha+1}} \left\{ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} + \frac{\lambda}{(\log t)^2} \right\} |y|^{\alpha-1}y = 0. \tag{2.1}$$

LEMMA 2.1. *Suppose that (2.1) has a positive solution. Then the derivative of the solution is nonnegative for t sufficiently large and it tends to zero as $t \rightarrow \infty$.*

Proof. Let $y(t)$ be a positive solution of (2.1). Then there exists $T > 0$ such that $y(t) > 0$ for $t \geq T$, and therefore, we have

$$(|y'(t)|^{\alpha-1}y'(t))' = -\frac{1}{t^{\alpha+1}} \left\{ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} + \frac{\lambda}{(\log t)^2} \right\} |y(t)|^{\alpha-1}y(t) < 0. \tag{2.2}$$

We first show that $y'(t) \geq 0$ for $t \geq T$. By way of contradiction, we suppose that there exists $t_1 \geq T$ such that $y'(t_1) < 0$. Integrating both sides of (2.2) from t_1 to t , we obtain

$$|y'(t)|^{\alpha-1}y'(t) \leq |y'(t_1)|^{\alpha-1}y'(t_1) \quad \text{for } t \geq t_1,$$

and therefore, we have $y'(t) \leq y'(t_1)$ for $t \geq t_1$. Hence, it follows that

$$y(t) < y'(t_1)(t - t_1) + y(t_1) \rightarrow -\infty \quad \text{as } t \rightarrow \infty.$$

This contradicts the assumption that $y(t)$ is positive for $t \geq T$. Thus, $y'(t) \geq 0$ for $t \geq T$.

Next, we will show that $\lim_{t \rightarrow \infty} y'(t) = 0$. From (2.2), $y'(t)$ is nonincreasing for $t \geq T$. Then, there exists $m \geq 0$ such that $y'(t) \rightarrow m$ as $t \rightarrow \infty$. If $m > 0$, then we have

$y(t) \geq m(t-T) + y(T)$ for $t \geq T$. Hence, there exists $t_2 \geq T$ such that $y(t) \geq mt/2$ for $t \geq T$. Since $y(t)$ is a solution of (2.1), we have

$$\begin{aligned} (|y'(t)|^{\alpha-1}y'(t))' &= -\frac{1}{t^{\alpha+1}} \left\{ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} + \frac{\lambda}{(\log t)^2} \right\} |y(t)|^{\alpha-1}y(t) \\ &\leq -\frac{1}{t^{\alpha+1}} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} |y(t)|^{\alpha-1}y(t) \\ &\leq -\frac{1}{t^{\alpha+1}} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \left(\frac{m}{2} \right)^{\alpha} t^{\alpha} \\ &= -\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \left(\frac{m}{2} \right)^{\alpha} \frac{1}{t} \quad \text{for } t \geq t_2. \end{aligned}$$

Integrating this inequality from t_2 to t , we obtain

$$|y'(t)|^{\alpha-1}y'(t) \leq -\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \left(\frac{m}{2} \right)^{\alpha} \log \frac{t}{T} + |x'(t_2)|^{\alpha-1}x'(t_2) \quad \text{for } t \geq t_2.$$

This is a contradiction to the assumption that $y'(t) \geq 0$ for $t \geq T$. This completes the proof of Lemma 2.1. \square

We now consider the relation between (1.1) and the inequality

$$y'(t) \geq \left(\int_t^{\infty} \left\{ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |y(s)|^{\alpha-1}y(s) + a(s)f(y(cs)) \right\} ds \right)^{1/\alpha}. \quad (2.3)$$

LEMMA 2.2. *Assume that the function f satisfies (1.2) and is nondecreasing for $x \in \mathbb{R}$. Suppose that there exists a positive function $y(t)$ satisfying (2.3) for t sufficiently large. Then (1.1) has a nonoscillatory solution.*

Proof. Let t_0 be a positive number such that $y(t) > 0$ and (2.3) holds for $t \geq t_0$. We define the function sequences $\{x_n(t)\}$ and $\{w_n(t)\}$ as follows.

$$\begin{aligned} w_1(t) &= y'(t) \quad \text{for } t \geq t_1, \\ x_1(t) &= y(t) \quad \text{for } t \geq t_0, \\ w_{n+1}(t) &= \left(\int_t^{\infty} \left\{ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |x_n(s)|^{\alpha-1}x_n(s) \right. \right. \\ &\quad \left. \left. + a(s)f(x_n(cs)) \right\} ds \right)^{1/\alpha} \quad \text{for } t \geq t_1, \\ x_{n+1}(t) &= \begin{cases} y(t) & \text{for } t_0 \leq t \leq t_1, \\ \int_{t_1}^t w_{n+1}(s)ds + y(t_1) & \text{for } t > t_1, \end{cases} \end{aligned}$$

where $t_1 = t_0/c$. We will show that, for any $n \in \mathbb{N}$,

$$0 < w_{n+1}(t) \leq w_n(t) \quad \text{for } t \geq t_1 \quad \text{and} \quad 0 < x_{n+1}(t) \leq x_n(t) \quad \text{for } t \geq t_0 \quad (2.4)$$

by mathematical induction on n .

From condition (2.3), we obtain

$$\begin{aligned} w_2(t) &= \left(\int_t^\infty \left(\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |x_1(s)|^{\alpha-1} x_1(s) + a(s)f(x_1(cs)) \right) ds \right)^{1/\alpha} \\ &= \left(\int_t^\infty \left(\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |y(s)|^{\alpha-1} y(s) + a(s)f(y(cs)) \right) ds \right)^{1/\alpha} \\ &\leq y'(t) = w_1(t) \quad \text{for } t \geq t_1. \end{aligned}$$

We also have that $w_2(t) > 0$ for $t \geq t_1$ because $y(t) > 0$ for $t \geq t_0$. Hence, $x_2(t)$ is positive for $t \geq t_0$,

$$\begin{aligned} x_2(t) &= \int_{t_1}^t w_2(s) ds + y(t_1) \\ &\leq \int_{t_1}^t w_1(s) ds + y(t_1) = \int_{t_1}^t y'(s) ds + y(t_1) \\ &= y(t) - y(t_1) + y(t_1) = y(t) = x_1(t) \quad \text{for } t > t_1 \end{aligned}$$

and $x_2(t) = y(t) = x_1(t)$ for $t_0 \leq t \leq t_1$. Thus, (2.4) is true for $n = 1$.

Assume that condition (2.4) is satisfied with $n = k$. Since the function $f(y)$ is nondecreasing for $y \in \mathbb{R}$, we have

$$\begin{aligned} w_{k+2}(t) &= \left(\int_t^\infty \left(\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |x_{k+1}(s)|^{\alpha-1} x_{k+1}(s) + a(s)f(x_{k+1}(cs)) \right) ds \right)^{1/\alpha} \\ &\leq \left(\int_t^\infty \left(\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |x_k(s)|^{\alpha-1} x_k(s) + a(s)f(x_k(cs)) \right) ds \right)^{1/\alpha} \\ &= w_{k+1}(t), \quad \text{and that} \end{aligned}$$

$$\begin{aligned} x_{k+2}(t) &= \int_{t_1}^t w_{k+1}(s) ds + y(t_1) \\ &\leq \int_{t_1}^t w_k(s) ds + y(t_1) = x_{k+1}(t) \quad \text{for } t \geq t_1. \end{aligned}$$

It is easy to check that $x_{k+2}(t) = y(t) = x_{k+1}(t)$ for $t_0 \leq t \leq t_1$, $w_{k+2}(t) \geq 0$ for $t \geq t_1$ and that $x_{k+2}(t) > 0$ for $t > t_0$. Thus, (2.4) is true for $n = k + 1$.

Let $x(t) = \lim_{n \rightarrow \infty} x_n(t)$ and $w(t) = \lim_{n \rightarrow \infty} w_n(t)$. Then, using the Lebesgue monotone convergence theorem, we have

$$x(t) = \int_{t_1}^t w(s) ds + y(t_1) \quad \text{for } t \geq t_1$$

and

$$w(t) = \left(\int_t^\infty \left(\left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{s^{\alpha+1}} |x(s)|^{\alpha-1} x(s) + a(s)f(x(cs)) \right) ds \right)^{1/\alpha}$$

for $t \geq t_1$, respectively. Moreover, we obtain

$$x(t) = \lim_{n \rightarrow \infty} x_n(t) \geq \lim_{n \rightarrow \infty} x_n(t_1) = y(t_1) > 0 \quad \text{for } t \geq t_1$$

because $x'_n(t) = w_n(t) > 0$ for $t \geq t_1$. Thus, $x(t)$ is a nonoscillatory solution of (1.1). \square

3. Proof of the main theorem

We deal only with the case that condition (1.6) is satisfied for $y > 0$ sufficiently large, because the other case can be proved in a similar manner.

It is known that the half-linear differential equation

$$(|y|^{\alpha-1}y')' + \frac{1}{t^{\alpha+1}} \left\{ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} + \frac{1}{2} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{(\log t)^2} \right\} |y|^{\alpha-1}y = 0 \quad (3.1)$$

has a nonoscillatory solution $y(t)$ satisfying

$$y(t) = t^{\alpha/(\alpha+1)} (\log t)^{1/(\alpha+1)} (M_1 + O(1/\log t)) \quad \text{as } t \rightarrow \infty, \quad (3.2)$$

where $M_1 \neq 0$ (for example, see [4, Corollary 5.2.3], [6, Corollary 1] and [10]). Since $-y(t)$ is also a solution of (3.1), we may assume that the constant M_1 is positive. Then, there exists $T > 0$ such that $y(t) > 0$ for $t \geq T$.

From (1.7), we can choose ε_0 such that

$$\lambda \leq \frac{1}{2c^{\alpha^2/(\alpha+1)}} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+\gamma} \left(\frac{1-\varepsilon_0}{1+\varepsilon_0} \right)^\alpha \quad \text{and} \quad 0 < \varepsilon_0 < 1. \quad (3.3)$$

By (3.2), there exists $t_0 > T$ such that $y(t)$ satisfies

$$\left| \frac{y(t)}{t^{\alpha/(\alpha+1)} (\log t)^{1/(\alpha+1)}} - M_1 \right| < M_1 \varepsilon_0 \quad \text{for } t \geq t_0,$$

and therefore, we have

$$\begin{aligned} \frac{\log t}{\log y(ct)} &\leq \frac{\log t}{\log(M_1(1-\varepsilon_0)(ct)^{\alpha/(\alpha+1)}(\log(ct))^{1/(\alpha+1)})} \\ &= \frac{\log t}{\log M_1(1-\varepsilon_0) + (\alpha/(\alpha+1))(\log c + \log t) + \log(\log(ct))^{1/(\alpha+1)}} \\ &\nearrow \frac{1}{\alpha/(\alpha+1)} \quad \text{as } t \rightarrow \infty. \end{aligned}$$

Hence, we can find $t_1 > t_0/c$ such that

$$\frac{1}{\log y(ct)} \leq \frac{1}{\alpha/(\alpha + 1)\log t} \quad \text{for } t \geq t_1. \tag{3.4}$$

We also have

$$\frac{y(ct)}{y(t)} \leq \frac{M_1(1 + \varepsilon_0)(ct)^{\alpha/(\alpha+1)}(\log(ct))^{1/(\alpha+1)}}{M_1(1 - \varepsilon_0)t^{\alpha/(\alpha+1)}(\log t)^{1/(\alpha+1)}} \leq \frac{1 + \varepsilon_0}{1 - \varepsilon_0} c^{\alpha/(\alpha+1)} \quad \text{for } t \geq t_1. \tag{3.5}$$

Hence, from conditions (1.5), (1.6), (3.3), (3.4) and (3.5), we have

$$\begin{aligned} a(t)f(y(ct)) &\leq \frac{\lambda}{t^{\alpha+1}(\log t)^\beta (\log y(ct))^\gamma} (y(ct))^\alpha \\ &\leq \frac{\lambda}{t^{\alpha+1}(\log t)^\beta (\alpha/(\alpha + 1))^\gamma (\log t)^\gamma} \left(\frac{y(ct)}{y(t)}\right)^\alpha (y(t))^\alpha \\ &\leq \frac{\lambda}{t^{\alpha+1}(\log t)^{\beta+\gamma} (\alpha/(\alpha + 1))^\gamma} \left(\frac{1 + \varepsilon_0}{1 - \varepsilon_0}\right)^\alpha c^{\alpha^2/(\alpha+1)} (y(t))^\alpha \\ &\leq \frac{1}{2} \left(\frac{\alpha}{\alpha + 1}\right)^\alpha \frac{1}{t^{\alpha+1}(\log t)^2} |y(t)|^{\alpha-1} y(t) \quad \text{for } t \geq t_1. \end{aligned} \tag{3.6}$$

Integrating both sides of (3.1) from t to ∞ ($t \geq t_0$) and using Lemma 2.1, we obtain

$$\begin{aligned} |y'(t)|^{\alpha-1} y'(t) &= \int_t^\infty \left\{ \frac{1}{s^{\alpha+1}} \left(\frac{\alpha}{\alpha + 1}\right)^{\alpha+1} |y(s)|^{\alpha-1} y(s) \right. \\ &\quad \left. + \frac{1}{2} \left(\frac{\alpha}{\alpha + 1}\right)^\alpha \frac{1}{s^{\alpha+1}(\log s)^2} |y(s)|^{\alpha-1} y(s) \right\} ds \quad \text{for } t \geq t_0. \end{aligned}$$

Hence, by (3.6), $y(t)$ satisfies the inequality

$$y'(t) \geq \left(\int_t^\infty \left\{ \frac{1}{s^{\alpha+1}} \left(\frac{\alpha}{\alpha + 1}\right)^{\alpha+1} |y(s)|^{\alpha-1} y(s) + a(s)f(y(cs)) \right\} ds \right)^{1/\alpha}$$

for $t \geq t_1$. Thus, from Lemma 2.2, (1.1) has a nonoscillatory solution. This completes the proof of Theorem 1.1. \square

4. Examples and Oscillation constants

To illustrate Theorem 1.1, consider the equation

$$\left(|x'(t)|^{\alpha-1} x'(t)\right)' + \left(\frac{\alpha}{(\alpha + 1)t}\right)^{\alpha+1} |x(t)|^{\alpha-1} x(t) + \lambda a(t)f(x(ct)) = 0, \tag{1.1}_\lambda$$

where λ is a nonnegative number. We introduce the following definition. The number λ_0 is called an *oscillation constant* for $(1.1)_\lambda$ if all nontrivial solutions of $(1.1)_\lambda$ are oscillatory for $\lambda > \lambda_0$, and there exists a nonoscillatory solution of $(1.1)_\lambda$ for $0 < \lambda < \lambda_0$ (for example, see [4, p.238] and [15, p.52]).

REMARK 4.1. When an oscillation constant λ_0 exists for $(1.1)_\lambda$, we cannot in general decide whether or not solutions of $(1.1)_{\lambda_0}$ are oscillatory.

A typical example of $(1.1)_\lambda$ is the half-linear differential equation without delay (2.1). Elbert and Schneider [6] discussed the oscillation problem for (2.1). They gave the following oscillation constant for (2.1).

EXAMPLE 4.1. An oscillation constant for (2.1) is $(\alpha/(\alpha+1))^\alpha/2$.

Another example of $(1.1)_\lambda$ for which there exists an oscillation constant is the linear differential equation with delay

$$x''(t) + \frac{1}{4t^2}x(t) + \frac{\lambda}{t^2(\log t)^2}x(ct) = 0. \quad (4.1)$$

The oscillation problem for this equation was examined by Sugie and Iwasaki [11], and they presented the following oscillation constant.

EXAMPLE 4.2. The value $1/(4\sqrt{c})$ is an oscillation constant for (4.1).

From Theorems 1.1 and A, an oscillation constant for $(1.1)_\lambda$ is

$$\frac{1}{2c^{\alpha^2/(\alpha+1)}} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+\gamma} \quad (4.2)$$

when the perturbation $a(t)f(y)$ satisfies

$$a(t)f(y) = \frac{1}{t^{\alpha+1}(\log t)^\beta(\log |y|)^\gamma} |y|^{\alpha-1}y \quad (4.3)$$

for t and $|y|$ sufficiently large, where β and γ are nonnegative constants satisfying $\beta + \gamma = 2$. Hence, if $c = 1$ and $\gamma = 0$ ($\alpha = 1$ and $\gamma = 0$, respectively), then $(1.1)_\lambda$ with (4.3) becomes (2.1) ((4.1), respectively) and the constant (4.2) coincides with the oscillation constant of (2.1) ((4.1), respectively). Thus, the constant (4.2) is a complete generalization of the oscillation constants for (2.1) and (4.1).

Acknowledgements. The author thanks Professor Hideaki Matsunaga for his valuable suggestions that helped to improve this manuscript.

REFERENCES

- [1] O. DOŠLÝ, *Oscillation criteria for half-linear second order differential equations*, Hiroshima Math. J., **28** (1998), 507–521.
- [2] O. DOŠLÝ, *Perturbations of the half-linear Euler-Weber type differential equation*, J. Math. Anal. Appl., **323** (2006), 426–440.
- [3] O. DOŠLÝ AND A. LOMTATIDZE, *Oscillation and nonoscillation criteria for half-linear second order differential equations*, Hiroshima Math. J., **36** (2006), 203–219.

- [4] O. DOŠLÝ AND P. ŘEHÁK, *Half-linear differential equations*, North-Holland Mathematics Studies, **202**, Elsevier, Amsterdam, 2005.
- [5] Á. ELBERT, *A half-linear second order differential equation*, *Qualitative theory of differential equations*, Vol. I, II (Szeged, 1979), pp. 153–180, Colloq. Math. Soc. János Bolyai, **30**, North-Holland, Amsterdam-New York, 1981.
- [6] Á. ELBERT AND A. SCHNEIDER, *Perturbations of the half-linear Euler differential equation*, *Results Math.*, **37** (2000), 56–83.
- [7] H.-L. HONG, W.-C. LIAN AND C.-C. YEH, *Oscillation criteria for half-linear differential equations with functional arguments*, *Nonlinear World*, **3** (1996), 849–855.
- [8] H. J. LI AND C. C. YEH, *Sturmian comparison theorem for half-linear second-order differential equations*, *Proc. Roy. Soc. Edinburgh Sect. A*, **125** (1995), 1193–1204.
- [9] J. D. MIRZOV, *On some analogs of Sturm's and Kneser's theorems for nonlinear systems*, *J. Math. Anal. Appl.*, **53** (1976), 418–425.
- [10] Z. PÁTÍKOVÁ, *Asymptotic formulas for non-oscillatory solutions of perturbed half-linear Euler equation*, *Nonlinear Anal.*, **69** (2008), 3281–3290.
- [11] J. SUGIE AND M. IWASAKI, *Oscillation of the Riemann-Weber version of Euler differential equations with delay*, *Georgian Math. J.*, **7** (2000), 577–584.
- [12] J. SUGIE AND M. ONITSUKA, *A non-oscillation theorem for nonlinear differential equations with p -Laplacian*, *Proc. Roy. Soc. Edinburgh Sect. A*, **136** (2006), 633–647.
- [13] J. SUGIE AND N. YAMAOKA, *Growth conditions for oscillation of nonlinear differential equations with p -Laplacian*, *J. Math. Anal. Appl.*, **306** (2005), 18–34.
- [14] J. SUGIE AND N. YAMAOKA, *Comparison theorems for oscillation of second-order half-linear differential equations*, *Acta Math. Hungar.*, **111** (2006), 165–179.
- [15] C. A. SWANSON, *Comparison and oscillation theory of linear differential equations*, Academic Press, New York-London, 1968.
- [16] N. YAMAOKA AND J. SUGIE, *Oscillation caused by delay perturbation in half-linear differential equations*, *Dynam. Systems Appl.*, **14** (2005), 365–379.

(Received December 14, 2008)

Naoto Yamaoka
Department of Mathematical Sciences
Osaka Prefecture University
Sakai 599-8531
Japan
e-mail: yamaoka@ms.osakafu-u.ac.jp